DOF=-0-212E(03.08)

05veQlrs NEEV#; giAal'E DCN NO. DES‘CF;EIPTIOQN §EDR ECHKé APPE[E. .%PP%.
( "ON ONIMVHG) 22BR
41.5
18
(o))
#4-40 3.75
\\ ((NOTE2)
O /
m
2 A <
11— 1 #o @ i@l o
in‘l N © ;? <
3 < n 7
N
NOTE1 ,/ 5\ /
3 1
410
(CABLE ENTRY) *1
16
| J
1T1|FLAT WASHER 2|sTEEL NICKEL PLATED M2.6
SCREW(SLOTTED AND
1 0 |gRross RECESSED HEAD) 2|STEEL NICKEL PLATED M3X6
9 |SPRING LOCK WASHER 2|sTEEL NICKEL PLATED M3
8 |HEX NUT 2|STEEL NICKEL PLATED M3
7 |LOCKING SCREW 2|sTEEL NICKEL PLATED
& |FLAT WASHER 2| STEEL NICKEL PLATED- M3
5 |HoOD B 1|ABS NICKEL PLATED
NOTE1.JAE LOGO AND PRODUCT NAME, EXCEPT I'f-FZ—'IRJ MARK, 4 |HoOD A 11ABS NICKEL PLATED
IS TO BE INDICATED AT THE POSITION AS SHOWN. 3 |INsERT 2| COPPER ALLOY NIGKEL PLATED
2.THIS DIMENSION MEANS THE PROTRUDED AMOUNTS OF THE SCREW. 2 |CLAMP SADDLE 1|STEEL NICKEL PLATED
SCREW(SLOTTED AND
1 |Snbss REoresen Neap) 2|STEEL NICKEL PLATED M3X12
_ . B F 5| % "B X # )
1 HMEROMABIIHEBRY -SG22EXRRT 5. NO. DESCRIPTION QTYyY. MATERIAL .
UL S T—F2-1TRIERRS AL, RS (SPEGIFICATION) FETR(ORIGINAL DATE)
. - 13.Ju1.2005 m
2.20FFEEFZXZOBEIEEET. CT] <
DR. Z#(TITLE)
-#2% (6ENERAL TOLERANCE) BY ELECTRONICS w
CHK. Y.TAKAGI , J N
43k (DIMENSION) | £ (ANGLES) = _ DB—C8—J10—-F2—1R y INDUSTRY, LTD. —
. £0.5 |x° :I:D(‘ APPD. : : | o
e 3 L/ . M&E&S (DRAWING NO. ) £
'ix :0'5 X APPD.| /%_ HR(MASS) ’ e
. 7 S8
‘ XXX E -1 §J103450 1
8 LLLUILEL LA LERL AT RLL AL L AL I O IO T 11 - JAE CONNEGTOR DIV. PROPRIETARY. .
O 10 20 30 4 S0 6 70 80 S0 100 ' COPYRIGHT (C) 2005, JAPAN AVIATION ELEGTRONICS INDUSTRY, LTD.




